saaa Loy
5 =T
>

3

oney

o
3 —

(wrl) (xQ)o

i Lovaadenss
s P T8 °
= S S
Ad 40} (wr) (x Q)o onrey

0.9

p. (GeV)

2

10

So. (Ge\]/')02

TRZ 1000evt

: : S
N : 5]
: ] : )
: : o
: : A
: $iul
: B
: ]
: i
i i i [ ._rrru
0 H e
— = w w
(wrl) saonian pabiaw Joj (A Q)o oney
................. <
.......... @)
Q
............. g
o
........ o
o
—
i i i i N I
o 0 — [¥e)
S : g
(wrl) (K)o oney

Ad Jo} (wrl) (AQ)o

saaa ey
~

}
3

oney

=
.9

Sp. G e@)o2

10

szpT (GeV)

10

(wn) (z Q)o

Ad Jo} (wrl) (z Q)0

| H Ly,
) o — 0 = 2]
—l




	Contents
	Page 1


